
GX 550 & LC 250 Rear MOLLE System Install

Included Hardware: Included Part(s):

Feedback?

1 2

Process Ref. No: 12
Revision: 1.004 Revision date: 29/08/2024

Date: 26/07/2024
Page 1 of 7

CYCLE TIME: N/A
Author: Tech Support

https://gembadocsapp.page.link/bWwPYRuT24Z65oGV7


GX 550 & LC 250 Rear MOLLE System Install

Start by removing the plastic cover, below the rear window, with a pry tool or a
flat head screw driver. Once removed, use a 10mm socket to remove the hex
bolt. Be sure to hold onto this for later use.

Next, you need to remove the grab handles from each side of the vehicle. Pop
off the plastic covers and remove the (2) factory hex bolts using a 10mm
socket. Repeat this on each side of the vehicle. 

Feedback?

3 4

Process Ref. No: 12
Revision: 1.004 Revision date: 29/08/2024

Date: 26/07/2024
Page 2 of 7

CYCLE TIME: N/A
Author: Tech Support

https://gembadocsapp.page.link/bWwPYRuT24Z65oGV7


GX 550 & LC 250 Rear MOLLE System Install

Take the provided lower bracket and bolt it into place in the orientation shown
above, using the provided long m6 bolt and spacer behind the bracket. Leave
this loose for now so you can have adjustment if needed.

Now take the (2) provided upper brackets and bolt them into the factory holes
that held the handle into place, using the provided longer hex heads with a
washer. The handles can be installed over the brackets or left off. if leaving
the handles off, the factory hardware can be reused. install as shown in the
orientation above. Leave this loose for now for adjustment.

Feedback?

5 6

Process Ref. No: 12
Revision: 1.004 Revision date: 29/08/2024

Date: 26/07/2024
Page 3 of 7

CYCLE TIME: N/A
Author: Tech Support

https://gembadocsapp.page.link/bWwPYRuT24Z65oGV7


GX 550 & LC 250 Rear MOLLE System Install

With your brackets loosely bolted into place, bolt your molle panel to the lower
bracket using the provided 1/4" button heads and a flange nuts.

Next, take the provided 1/4" hex heads with a washer and flange nut and bolt
them to the top back bracket as shown above using a 7/16" wrench.

Feedback?

7 8

Process Ref. No: 12
Revision: 1.004 Revision date: 29/08/2024

Date: 26/07/2024
Page 4 of 7

CYCLE TIME: N/A
Author: Tech Support

https://gembadocsapp.page.link/bWwPYRuT24Z65oGV7


GX 550 & LC 250 Rear MOLLE System Install

Once you have your panel attached to the brackets, repeat the same process
for the opposite side. Once both panels are in the vehicle, take the upper shelf
and place it on top of the brackets and align it so it is centered. Once
positioned how you'd like it, tighten down all of the hardware for the panel
brackets to secure everything into place.

With the upper shelf in place, drop bolts through the top into the brackets and
use nuts to secure it into place. Once in place, take the provided back piece
and the (2) upper brackets and bolt them all together and into the panel using
1/4" buttons heads and flange nuts.

Feedback?

9 10

Process Ref. No: 12
Revision: 1.004 Revision date: 29/08/2024

Date: 26/07/2024
Page 5 of 7

CYCLE TIME: N/A
Author: Tech Support

https://gembadocsapp.page.link/bWwPYRuT24Z65oGV7


GX 550 & LC 250 Rear MOLLE System Install

Take the provided double sided 3M tape and cut to size of the last remaining
brackets. Once cut to size peel one side of the tape off and place on the
bottom side of the bracket, as shown above. Peel the other side of the tape,
and feed the bracket through the logo hole and shimmy down to the mounting
hole on the bracket and stick to the plastic and bolt into place.

To complete the install, take the provided stainless steel logo plate and bolt it
into the cut out in the molle panel with the provided smaller button heads.
Shown in the orientation above.

Feedback?

11 12

Process Ref. No: 12
Revision: 1.004 Revision date: 29/08/2024

Date: 26/07/2024
Page 6 of 7

CYCLE TIME: N/A
Author: Tech Support

https://gembadocsapp.page.link/bWwPYRuT24Z65oGV7


GX 550 & LC 250 Rear MOLLE System Install
Feedback?

13

Process Ref. No: 12
Revision: 1.004 Revision date: 29/08/2024

Date: 26/07/2024
Page 7 of 7

CYCLE TIME: N/A
Author: Tech Support

https://gembadocsapp.page.link/bWwPYRuT24Z65oGV7

